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Find the stand?rd form of the equation of the ellipse with the given characteristics. 2 %
8. %“ 9.) Vertices (6, 0); Foci: (+2,0) C-2
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10.) Foci (5, 0); Major Axis Length is 12 11) Vertices (0,2) and (4,2);  (e~k~:(2,2)

endpoints of the minor axis are (2, 3) and (2, 1)
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12.) 9x? - y* —36x—6y+18=0 13.) x* -9y* +36y-72=0
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Find the standard form of the equations of the hyperbola with the given characteristics and center
at the origin.

14.) Vertices (0, +2); Fociz (0, +4) 15.) Vertices (1, 0); Asymptotes: y = +5x
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Find the standard form of the equations of the hyperbola with the given characteristics.

16.) Vertices (4,1) and (4,9); Foci (4,0) and (4,10)
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Write the equation in standard form and then classi

hyperbola.
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Find the vertex, focus, and dlrectrlx of the parabola and sketch its graph 0=
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Find the standard form of the equation of the parabola with the given characteristics.

3.) Vertex: (-1, 2); Focus (-1, 0) 4.) Vertex: (0, 4); Directrix:y=2  5.) Focus: (2, 2); Directrix: x = -2
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